4-733

3 inch Corner Finisher

ITEM #| QTY DESCRIPTION PART #
1 2 Screw (6-32) 9510
2 4 SS Flat Washer 9511
3 4 CF Rubber Tire 9512
4 2 CF Wheel Bushing | 9513
5 2 Finisher Wheels 9514
6 3 |CF Lock Clip Spring| 7740
7 6 Screw (4-40) 9508
8 2 Slotted Screw 7190
9 1 CF Bottom Clip 9192
10 1 3” CF Body 9183
11 1 3” Left Frame 9193
12 2 2.5%- 3"CF Skids 9189
13 18 Hex Screw (6-32) 9191
14 2 3” CF Blade 9188
15 2 CF Frame Tabs 9509
16 2 | Spring Tension Pin | 9501
17 1 CF Top Clip 9195
18 1 |3” CF Spring (Small)| 9520
19 1 3” CF Spring (Big) | 9521
20 1 |CF Ball Locking Clip| 7741
21 1 CF Lock Clip Tab 7742
22 1 Screw (6-32) 7075
23 1 Insert Socket 7183
24 2 Screw (6-32) 7312
25 1 3” Right Frame 9194

4-733
3 inch Corner Finisher




